)1 S S S S S S S S S S S S o S S S S S S8 i ¥/ v S S S S S . S S S S S S S S S S — —

2540
55 1110 10 1110 55
* 4N
éJ_ [ )
- Lt
S.: :
i [
/ ..u..
2|3 2 \\J/A\\ Cj/
) * -

600

N 1
N
Cl\”
i o
R
2—1 ||_ |
=

SHABR s

BN 1720
S RBOAX S LSETH TS,

120

40.5

Cl\\

46

of, 05040 ><\
oJocol000ffo
o2o202020 2o,
%o
%o
o
%o
o
o0
a
N
o0
o
5 0
o
%o
a

0°0°0R0°0°0°6%0°0

A-AZ

(178

{ B

& G10
54 7 | yyv4-3MEHDH (M
& # 1800
2340
HEE KEMHO0S10% 4

50 39
4 I
‘g;
AEFAN (175
60
- 50
31
- ( =
P i LT
j O / |mj
B Lo
CENIN W~
ALEAN (178 NEEEE (175 ORIMR (178
HS #® 1% # % z i B
57050x26xt1.6 . N .
1 B R B 39031x 31%41.0 STKM1 1A B &+ HEREEE
2 ! t3.2 SGH "
3 AR Y YR t4.5,4 20 I
4 B A B 050x50x12.3 STKR400 ]
5 Xy YL K2 t3.6,64.5 FHas- %58 T & + FEBPEER
6 vy & -5 HDHy Y - % J- L8
7 yyys-str-2 t1.0 SGC B &+ BERERE
8 |yUvs-87TU-} t1.6 SGH "
9 kv IEE 312 BRIEHD - &
0] € v ¥ t6. ¢20 B> S+ HERREE
1M1 % L ¥ $13 BRIEHS - &
12| SBUEBA by N- AFVULA
13| 84 n47 PVC
14 TIv 7Y M6 ATYUA
15 By ey 4x 20 ]
16 BfF & b M10x75 4 6184 BREHD - &
171 V92029 M8x 45 AFVULA
18| & £ 12 X
19| PHYTL-b t2.3 SGH - &+ HERIER
200 WA KW b M8x 45 AFYULA
210 v 9 ahzy MEx 40 "
22 BT -+ t1.6 SGH B S+ HERERER
23| I AMRY M4x 8 ATYUA

BRAEH: vy Sy -l BFREAVET,

YUY H =358 (J- V&) HDHY Y —R& CEALL O,
(Ny 7ty b B4mm, EE 33~43mm)




